Central Tendency – Worksheet #4
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1)  The following stem-and-leaf plot shows prices for a particular book on Ebay:



0    8





a)  What is the median price?


1    5 7 7


2    0 4 4 4 9




b)  What is the mode price?


3    0 1 8


4    5 8 9




c)  What is the price range?

 
Key:   1 | 5  means $15.00

d)  How many books are priced 








     under $20?

2)  The following stem-and-leaf plot shows test scores for Mr. Seidel’s period 8:



  6     0 0 0 




a)  What was the median score?

  7     3 8 8 9


  8





b)  Jimmy tells his mom he scored

  9     0 1 5 7




     an 84%.  Is he telling the truth?

10     0








c)  Mr. Seidel says the class average

Key:   7 | 8  means 78%


     was a 60%.  What do YOU think







     the class average should be?

3)  Please construct a box and whisker plot for the following data:


37, 40, 25, 45, 10, 29, 33, 38, 34, 33, 41, 36, 43, 30

     |          |          |          |          |          |          |          |          |          |          |          |          |          |          |          |          |          |
   10      12       14       16       18       20       22      24       26       28      30        32      34       36       38       40       42       44
The following list shows the past year’s average temperature as recorded by weather stations in 13 Pennsylvania counties.



57, 60, 64, 63, 57, 62, 70, 61, 58, 54, 59, 61, 62

What is the range of the average temperatures?

A
16

B
26

C
61

D
70

Which box-and-whisker plot correctly represents the average temperatures?



A


B


C

D

             |            |            |            |            |            |            |            |            |            |            |            |               
                           50         52         54         56         58         60        62         64         66         68         70         72
---------------------------------------------------------------------------------------------------
The number of visitors entering the


What is the median number of
museum to see the dinosaurs each 


visitors during the weekend?
hour during the weekend is shown



in the graph below.




A
27








B
24

Number of Visitors



C
23








D
29

0       4 5







1       5 6 6 6 




What is the mode?

2       0 1 2 4 5 7 7 7 7


3       2 2 3





A
16








B
23

Key:   1|5  means  15



C
27








D
33
